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SN SEAHEANLSA EHAXA
M NGO s=5& 2
2 NYEo s8& 22 (2 &HH)
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SSHEANGA EEX D 13,603,617 12,841,637 61,980
A 700,000
= 12,903,617
XNeEo 88 22| 9,387,852 8,723,776 664,076
A 700,000
o 8,687,852
XNeeo s 22 9,387,852 8,723,776 664,076
A 700,000
= 8,687,852
2 2 7,077,975 6,280,375 797,600
S 700,000
=} 6,377,975
101 e1214| 11,175 11,175 0
04 JIZtHIZ22XNSES 11,175 11,175 0
SoHE Do XA oI 11,175,000 11,175
201 Bt 6,800 7,200 A 400
01 AP 22| H| 6,800 7,200 A 400
OBxd 2 =2 HIa 29 S(HAHEZ)
4,250,000 4,250
OE2 |ANES AIRZ2IH (0 AHEZ)
2,550,000 2,550
204 = 2 4= A H| 15,000 15,000 0
03 § A 2 A H| 15,000 15,000 0
ool &=l 15,000,000 15,000
401 AlEHIZL 2 0HY| 7,045,000 6,220,000 825,000
N 700,000
& 6,345,000
01 Al&H| 7,000,000 6,190,000 810,000
OXNYE I S 5,900, 000,000 5,900,000
OEZ2RANELX M2 350,000,000 350,000
OEZANEE EHAMY 700,000,000 700,000
A 700,000
OEZRXNELN ©E HII= XMl
50,000,000 50,000
03 A& E2HH| 45,000 30,000 15,000
OXge I S 45,000,000 45,000
JHoHCHZH =& 527,000 527,000 0
AEH L 20| 527,000 527,000 0
01 Al&H| 527,000 527,000 0
O&ol & 2cHH& Adl LX=2 300,000,000 300,000
Aol & ~oHOiyl X2 227,000,000 227,000
AEH 2 Y 2 377,300 565,890 A 188,590
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201 282 bl 248, 100 250,890 £2,790
01 AP 22l 3,060 7,290 ~4,230
OALTH LHRB(HABY) 2,550,000 2,550
OREIHE AL(WAEL) 510,000 510
02 B2 245,040 243,600 1,440
OH+H2IANLIIS S 5,040,000 5,040
OSZRNLLIH REH 80,000,000 80,000
OSZRNLLFH R 160,000,000 160,000
405 X4+ 3 S b 129,200 315,000 £185,800
NIRRT 129,200 315,000 £.185,800
OEII(HaEY) 102,000,000 102,000
OM&II (K aE) 27,200,000 27,200
HE 2 D2 350,000 300,000 50,000
201 2 g2 bl 200,000 200,000 0
02 B2l 200,000 200,000 0
OHY ¥ ¥ MJIea S 200,000,000 200,000
401 Al I 2 S O 150,000 100,000 50,000
01 Al b 150,000 100,000 50,000
Ofg ¥ D JHIAY S 150,000,000 150,000
HEQHK2AAL RX22 120,000 0 120,000
401 A& 812 2 O] 120,000 0 120,000
01 Al&H| 120,000 0 120,000
OHERYHLAL 2% RN L
120,000,000 120,000
ABDY FNLH 900,000 0 900,000
401 A& I 2 = O 900,000 0 900,000
01 Al&H| 900,000 0 900,000
OMUorE SN XA 900,000,000 900,000
I geay 14,875 16,300 A1,425
201 Lt 2 bl 14,875 6,300 A1,425
01 AFR 22l 1,275 2,700 A1,425
ODHE= ARBRIHI(MUEZ) 1,275,000 1,275
02 B2 3,600 3,600 0
oolseE 2 13,600,000 13,600
A BT 20,702 1,034,211 A1,013,50
101 Q1 214 bl 16,452 16,452 0
04 IILH2ENSE4 16,452 16,452 0
OFA BHEr % BSR4 SATH 16,452,000 16,452
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SSAEME L SERL
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AR (SEALEMSE L ELXL) )
SN BA(SA) - MRAY - BES il HImEET
-l 26,040,000 26,040
M & &b 26,040,000 26,040
-JtH 2 &8I 22,320,000 22,320
-XH& S Xl 59,520,000 59,520
- EE 31,200,000 31,200
-SHH| 2 X 9,388,000 9,388
2MEE= 3,000,000 3,000
-Il = Hl 8,250,000 8,250
-=0H= S 197,024,000 197,024
Ott=L2(8%) 439,664
=0 204,675,000 204,675
-4 03 34,113,000 34,113
-AZ2Hel =Y 67,671,000 67,671
—AX g 12,893,000 12,893
“HHEEERFA O 14,400,000 14,400
- SR O A 768,000 768
- A EHEQ R I = 2,400,000 2,400
- A G A 12,480,000 12,480
- SH| 4,800,000 4,800
-2 F Ol 20,468,000 20,468
g+ 6,720,000 6,720
-l 4,800,000 4,800
b EsE 9,120,000 9,120
-=0H= = 44,356,000 44,356
204 =243 HH| 45,420 45,420 0
02 == x4 45,420 45,420 0
Ot (249) 45,420,000 45,420
|2 JE(BEALALL BELTL) 183,375 187,665 £ 4,290
Jl2dH (BEHEAEL ELXL) 183,375 187,665 A 4,290
201 L2 H| 134,980 137,060 ~2,080
01 At 22l 64,160 66,240 A 2,080
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35,360,000 35,360
Og=A=4 28,800,000 28,800
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202 04 tl 37,570 39,780 22,210
01 = LH 4 Hi 37,570 39,780 22,210
ONYERXNES ARFX(0aE2)
37,570,000 37,570
203 ¥ S =&l 9,025 9,025 0
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